Hours vs Per Cent for Labor
The Issue
· PI Jones is paid $5000 per month and charges .25 FTE to research grant “A”;

· Jones also has cost sharing obligations of .25 FTE for each of two research grants “B” and “C”:

· 
The institution is obligated to cost share 20% of total project cost of “B”;

· 
The institution is obligated to cost share 30% of total project cost of “C” ;

· Jones has an administrative assignment as assistant department head;

· Jones is teaching two classes;

In the institutional payroll system Jones' salary sources appear as follows:


Research grant "A"



.25


Department instruction funds
 

.75 


Problem 1
Total FTE Obligation/Commitment  
· Research-

.25 Grant “A” (direct charge)

· Research-

.25 Grant “B" (cost share)

· Research- 

.25 Grant "C” (cost share)
· Dept Admin (DA)-
.15 Department administration duties
· Instruction-

.50 teaching two classes

· TOTAL FTE

>1.00 FTE*

* Federal requirements limit involvement to 100% of an individual's effort for the institution.

Problem 2
Identification of potential audit issues with relative ease
· Federal auditor reviews university instructional and administrative assignments lists;
· Auditor identifies PI involvement with instruction, DA, and grant activities.

· Auditor requests confirmation of activities by PI after review of activity reports.

Problem 3
The PI Understanding of the Issue
· Auditor discussion with PI raises the issue of how he finds time to meet all his commitments?
· PI advises there is no problem, he has worked his 10 hours per week on grants “A", "B" &"C” each and since he is working an average of 70 hours a week he has plenty of time for teaching and departmental administrative duties. 
Problem 4
The Auditor warms up the laptop with the Excel spreadsheet (The "Gotcha")
· Auditor Calculation - for PI salary costs charged to Grant A:

· Federal paid salary was .25 FTE:

· on hours basis (10/70) equals .14 FTE
· Translation - Grant “A” overcharged by  .11FTE
· Salary charge Grant A $5,000/.25
 = $1,250

· Actual Labor $5,000/.14

 = $  700
· Government overcharged
 = $  550
· The Auditor continues the calculation:

· Government overcharged (salary)
 = $  550

· Benefits (est. .35)


 = $  193
· Total Salary and Benefits

 = $  743

· Indirect (.50)



 = $  372

· Total overcharge per month

 = $1,115
But Wait there is MORE
Hours vs Per Cent for Labor
The Issue
continued
Problem 5
Impact on cost sharing

· The Auditor continues the calculation for the impact on the cost sharing:

· 10/70 equals .14 FTE - translation Grant “B"&"C” over reported labor by .11 FTE (.25 FTE reported - .14 FTE actual):

Impact on Grant "B"

· Grant “B” total project $150,000

Funded By Federal Grant = $120,000
Funded By University = $30,000


Budget:





Salary
PI  (.25*$5,000*9)


$11,250  (PI contribution)



Other Personnel 
$ 59,259


    3,565




Benefits


   20,741


    5,185



Total Direct

   80,000

 
  20,000



F&A@50%

   40,000


  10,000



Total


$120,000

$30,000

· The Auditor's calculation of documented cost share for Grant “B”:



Salary
PI
(.14*$5,000*9)


$  6,300 (PI contribution)




Other Personnel 
   59,259


    3,565




Benefits


   20,741


    3,453



Total Direct

   80,000

 
  13,318




F&A@50%

   40,000


    6,659



Total


$120,000
            $19,977



Assuming the Federal portion of "B" is fully expended the Auditor may invoke HHS policy:


HHS GPD Part 3.02: Post-Award - Matching and Cost Sharing:

· "If a grantee fails to provide some or all of required matching or cost sharing, the Grants Management Officer will make a downward adjustment in the Federal award, which could potentially reduce the Federal share to zero.

· In addition, the Grants Management Officer may take other enforcement actions affecting the current and/or future awards. 

· (Issued 1/28/99)" 

Therefore: the university met only 67% of the cost sharing obligation (19,977/30,000) and the auditor 
recommends a reduction in the federal award to $80,400 or a loss of $39,600 of already expended 
dollars.

Impact on Grant "C"

· Grant “C” total project $75,000

Funded By Federal Grant = $ 52,200
Funded By University = $22,800


Budget:






Salary
PI (.25*$5,000*9)


$11,250  (PI contribution)




Other Personnel 
$ 25,778


     




Benefits


     9,022


    3,994



Total Direct

   34,800

 
  15,244



F&A@50%

   17,400


    7,622



Total


$ 52,200

            $22,866

Hours vs Per Cent for Labor
The Issue
continued
· The Auditor's calculation of documented cost share for Grant “C":



Salary
PI (.14*$5,000*9)


$  6,300 (PI contribution)




Other Personnel 
   25,778







Benefits


     9,022


    2,205



Total Direct

   34,000

 
    8,505



F&A@50%

   17,400


    4,253



Total


$ 52,200

             $12,758



Again assuming the Federal portion of "C" is fully expended the Auditor may invoke HHS policy:


HHS GPD Part 3.02: Post-Award - Matching and Cost Sharing.

The university met only 56% of the cost sharing obligation (12,758/28,800) and the auditor 
recommends a reduction in the federal award to $29,232 or a loss of $22,968 of already expended 
dollars.


Potential Financial Outcome






Audit Disallowance

 




if found after one year

Life of 5yr grant
· Grant A


$1,115/month       
$ 10,035


       $  50,175

· Grant B





$ 39,600


         198,000
· Grant C





$ 22,968


         114,840
· Total $ Impact (1 yr and 5 yr)


$ 72,603


      $ 363,015

Problem 6.
The Standard Extrapolation Methodology (also may be known as the elephant in the room)

Common Federal Audit practice is to select a sample of payroll transactions (their selection methods 
are known to be less than random).  If they make a selection of 10 individuals charged to federal 
grants and this PI and one or two more of that group appear to have activity discrepancies the 
standard extrapolation calculation would likely be as follows: 


Total federal payroll for FY XX
was 

$58,000,000


For the audit sample of the 10 people selected, if 20% of their total pay charged to federal grants 
was determined by the auditors to be questionable they would, by extrapolation, allege that 20% of 
the total amount charged to federal grants was in question i.e. $58,000,000 * 20% or $11,600,000 
until you prove otherwise.

Problem 7.
Activity Reporting System Deficient


If there is sufficient evidence, as determined by the auditors, that the activity reporting system does 
not adequately meet the requirements of A-21, the system could be declared deficient.  For the PI 
Jones example, if his activity report indicated he had certified that he provided 25% effort to each of 
the 3 research projects and recorded only minimal amounts (25% for teaching and department 
administration) that may be sufficient evidence that the reporting system may be questionable and 
trigger an expansion of the audit or worse. 
Problem 8.
The impact on the Facilities and Administrative cost rate calculation
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